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James believed that facial expressions not only provide a visible sign

of an emotion, actually contributing to the feeling itself.(A) emotion,

actually contributing to the feeling itself(B) emotion but also actually

contributing to the feeling itself(C) emotion but also actually

contribute to the feeling itself(D) emotion. they also actually

contribute to the feeling of it (E) emotion. the feeling itself is also

actually contributed to by them2. Along with the 0drop in producer

prices announced yesterday, the strong retail sales figures released

today seem like it is indicative that the economy, although growing

slowly, is not nearing a recession.(A) like it is indicative that(B) as if

to indicate(C) to indicate that(D) indicative of (E) like an indication

of3. The National Transportation Safety Board has recommended

the use of fail-safe mechanisms on airliner cargo door latches

assuring the doors are properly closed before takeoff and to prevent

them from popping open in flight.(A) assuring the doors are

properly closed(B) for the assurance of proper closing(C) assuring

proper closure(D) to assure closing the doors properly (E) to assure

that the doors are properly closed4. Iguanas have been an important

food source in Latin America since prehistoric times, and it is still

prized as a game animal by the campesinos, who typically cook the

meat in a heavily spiced stew.(A) it is still prized as a game animal(B)

it is still prized as game animals(C) they are still prized as game



animals(D) they are still prized as being a game animal (E) being still

prized as a game animal5. The financial crash of October 1987

demonstrated that the world’s capital markets are integrated more

closely than never before and events in one part of the global village

may be transmitted to the rest of the villagealmost

instantaneously.(A) integrated more closely than never before

and(B) closely integrated more than ever before so(C) more closely

integrated as never before while(D) more closely integrated than ever

before and that (E) more than ever before closely integrated as6.

New theories propose that catastrophic impacts of asteroids and

comets may have caused reversals in the Earth’s magnetic field, the

onset of ice ages, splitting apart continents 80 million years ago, and

great volcanic eruptions.(A) splitting apart continents(B) the

splitting apart of continents(C) split apart continents(D) continents

split apart (E) continents that were split apart7. Wisconsin, Illinois,

Florida, and Minnesota have begun to enforce statewide bans

prohibiting landfills to accept leaves, brush, and grass clippings.(A)

prohibiting landfills to accept leaves, brush, and grass clippings(B)

prohibiting that landfills accept leaves, brush, and grass clippings(C)

prohibiting landfills from accepting leaves, brush, and grass

clippings(D) that leaves, brush, and grass clippings cannot be

accepted in landfills (E) that landfills cannot accept leaves, brush,

and grass clippings8. Even though the direct costs of malpractice

disputes amounts to a sum lower than one percent of the $541 billion

the nation spent on health care last year, doctors say fear of lawsuits

plays major role in health-care inflation.(A) amounts to a sum



lower(B) amounts to less(C) amounted to less(D) amounted to

lower (E) amounted to a lower sum9. Except for a concert

performance that the composer himself staged in 1911, Scott Joplin

’s ragtime opera Treemonisha was not produced until 1972,

sixty-one years after its completion.(A) Except for a concert

performance that the composer himself staged(B) Except for a

concert performance with the composer himself staging it(C) Besides

a concert performance being staged by the composer himself(D)

Excepting a concert performance that the composer himself staged

(E) With the exception of a concert performance with the staging

done by the composer himself10. Students in the metropolitan

school district lack math skills to such a large degree as to make it

difficult to absorb them into a city economy becoming ever more

dependent on information-based industries.(A) lack math skills to

such a large degree as to make it difficult to absorb them into a city

economy becoming(B) lack math skills to a large enough degree that

they will be difficult to absorb into a city’s economy that

becomes(C) lack of math skills is so large as to be difficult to absorb

them into a city’s economy that becomes(D) are lacking so much

in math skills as to be difficult to absorb into a city’s economy

becoming (E) are so lacking in math skills that it will be difficult to

absorb them into a city economy becoming11. The diet of the

ordinary Greek in classical times was largely vegetarianvegetables,

fresh cheese, oatmeal, and meal cakes, and meat rarely.(A) and meat

rarely(B) and meat was rare(C) with meat as rare(D) meat a rarity

(E) with meat as a rarity12. An inventory equal to 90 days sales is as



much as even the strongest businesses carry, and then only as a way

to anticipate higher prices or ensure against shortages.(A) as much as

even(B) so much as even(C) even so much as(D) even as much that

(E) even so much that13. The decision by one of the nation’s

largest banks to admit to $3 billion in potential losses on foreign

loans could mean less lending by commercial banks to developing

countries and increasing the pressure on multigovernment lenders to

supply the funds.(A) increasing the pressure(B) the increasing

pressure(C) increased pressure(D) the pressure increased (E) the
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